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REPRESENTATIONS OF DEGENERATE HERMITE POLYNOMIALS

TAEKYUN KIM, DAE SAN KIM, LEE-CHAE JANG, HYUNSEOK LEE, AND HANYOUNG KIM

ABSTRACT. We introduce degenerate Hermite polynomials as a degenerate version of the ordinary

Hermite polynomials. Then, among other things, by using the formula about representing one λ -

Sheffer polynomial in terms of other λ -Sheffer polynomials we represent the degenerate Hermite

polynomials in terms of the higher-order degenerate Bernoulli, Euler, and Frobenius-Euler polyno-

mials and vice versa.

1. INTRODUCTION AND PRELIMINARIES

Carlitz initiated the study of degenerate Bernoulli and Euler polynomials and numbers and ob-

tained some interesting arithmetical and combinatorial results in [3,4]. In recent years, some math-

ematicians began to investigate degenerate versions of quite a few special numbers and polynomi-

als, which include the degenerate Bernoulli polynomials of the second kind, degenerate Stirling

numbers of the first and second kinds, degenerate Bell polynomials, degenerate Frobenius-Euler

polynomials, and so on (see [8,9,11-14] and the references therein). It is remarkable that studying

degenerate versions is not only limited to polynomials but also extended to transcendental func-

tions. Indeed, the degenerate gamma functions were introduced in connection with degenerate

Laplace transforms in [10].

Gian-Carlo Rota began to construct a completely rigorous foundation for umbral calculus in the

1970s. The Rota’s theory is based on the linear functionals in (11) and (12) and differential operators

in (15) and (16). The Sheffer sequences, which are defined by (20), occupy the central position in

the theory and are characterized by the generating functions as in (21), where the usual exponential

function enters. The motivation for [8] started from the question that what if the usual exponential

function in (21) was replaced by the degenerate exponential functions in (4). It turns out that it

corresponds to replacing the linear functional in (11) and (12) by the family of λ -linear functionals

in (9) and (10) and the differential operators in (15) and (16) by the family of λ -differential operators

in (13) and (14). Indeed, with these replacements we were led to define λ -Sheffer polynomials,

which are charactered by the desired generating functions (see (19)).

The aim of this paper is to introduce the degenerate Hermite polynomials as a degenerate version

of the ordinary Hermite polynomials and to study their properties. Specifically, by using the formula

(24) about representing one λ -Sheffer polynomial by other λ -Sheffer polynomials we will represent

the degenerate Hermite polynomial in terms of three other degenerate polynomials, namely the

higher-order degenerate Bernoulli, Euler and Frobenius-Euler polynomials and vice versa.

The outline of this paper is as follows. In Section 1, we will briefly go over very basics about

umbral calculus including λ–linear functionals, λ–differential operators, λ–Sheffer sequences and

the important formula in (24). For further details on these, we let the reader refer to [8]. In addition,

we will recall the definitions for the Hermite polynomials, the degenerate Stirling numbers of the

first and second kinds, higher-order degenerate Bernoulli polynomials, higher-order degenerate Eu-

ler polynomials and higher-order degenerate Frobenius–Euler polynomials. In Section 2, we will
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introduce the degenerate Hermite polynomials in a natural way and derive an explicit expression

for them. Then we will represent the higher-order degenerate Bernoulli, Euler and Frobenius-Euler

polynomials in terms of the degenerate Hermite polynomials and vice versa.

From now on, unless otherwise stated, λ is arbitrary but is a fixed non-zero real number. It is

well known that the Hermite polynomials, Hn(x), (n ≥ 0), are defined by the exponential generating

function as

(1) e2xt−t2

=
∞

∑
n=0

Hn(x)
tn

n!
, (see [18]).

From (1), we note that

(2) Hn(x) = (−1)nex2 dn

dxn
e−x2

, (n ≥ 0).

In particular,

Hn(x) =
n!

2πi

∮

e−t2+2xtt−n−1dt, (n ≥ 0),

where the contour encloses the origin and is traversed in a counterclockwise direction.

Carlitz introduced the degenerate Bernoulli polynomials of order r(∈ N) given by

(3)

(

t

eλ (t)−1

)r

ex
λ (t) =

∞

∑
n=0

β
(r)
n,λ (x)

tn

n!
, (see [3,4]).

Here ex
λ (t) are the degenerate exponential functions given by

(4) ex
λ (t) = (1+λ t)

x
λ , eλ (t) = e1

λ (t) = (1+λ t)
1
λ , (see [10,14,15,16]).

For x = 0, β
(r)
n,λ = β

(r)
n,λ (0) are called the degenerate Bernoulli numbers of order r.

Note that lim
λ→0

β
(r)
n,λ (x) = B

(r)
n (x), where B

(r)
n (x) are the ordinary Bernoulli polynomials of order r,

(see [1-20]).

Also, he considered the degenerate Euler polynomials of order r given by

(5)

(

2

eλ (t)+1

)r

ex
λ (t) =

∞

∑
n=0

E
(r)

n,λ (x)
tn

n!
, (see [3,4]),

where E
(r)

n,λ = E
(r)

n,λ (0) are called the degenerate Euler numbers of order r.

The degenerate logarithmic functions are defined by Kim-Kim as

(6) logλ (1+ t) =
∞

∑
n=0

λ n−1(1)n,1/λ
tn

n!
=

1

λ

(

(1+ t)λ −1
)

, (see [9]),

where (x)0,λ = 1, (x)n,λ = x(x−λ ) · · ·
(

x− (n−1)λ
)

, (n ≥ 1).
Note that

logλ

(

eλ (1+ t)
)

= eλ

(

logλ (1+ t)
)

= 1+ t.

The degenerate Stirling numbers of the first kind are defined by Kim-Kim as

(7) (x)n =
n

∑
l=0

S1,λ (n, l)(x)l,λ , (n ≥ 0), (see [9,11,12,13]),

where (x)0 = 1, (x)n = x(x−1) · · · (x−n+1), (n ≥ 1).
As an inversion formula of (7), the degenerate Stirling numbers of the second kind are defined as

(x)n,λ =
n

∑
l=0

S2,λ (n, l)(x)l , (n ≥ 0), (see [9,13,14,16]).
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In [14], the degenerate Frobenius-Euler polynomials of order r are defined by

(8)

(

1−u

eλ (t)−u

)r

ex
λ (t) =

∞

∑
n=0

h
(r)
n,λ (x|u)

tn

n!
,

where u ∈C with u 6= 1, and h
(r)
n,λ (u) = h

(r)
n,λ (0|u) are called the Frobenius-Euler numbers of order r.

Let C be the field of complex numbers. Let F be the algebra of formal power series in t over C

given by

F =

{

f (t) =
∞

∑
k=0

ak

tk

k!

∣

∣

∣

∣

ak ∈ C

}

,

and let P= C[x] be the algebra of polynomials in x over C.

For f (t) ∈ F , with f (t) =
∞

∑
k=0

ak

tk

k!
, we define the λ -linear functional 〈 f (t)|·〉λ on P by

(9) 〈 f (t)|(x)k,λ 〉λ = ak, (k ≥ 0), (see [8]).

In other words, the λ -linear functional 〈 f (t)|·〉λ is the unique linear functional on P mapping (x)k,λ

onto ak. From (9), we note that

(10) 〈tk|(x)n,λ 〉λ = n!δn,k, (n,k ≥ 0), (see [8]),

where δn,k is the Kronceker’s symbol.

If λ = 0, then the symbol 〈·|·〉0 is simply denoted by 〈·|·〉. With this notation, (9) and (10)

respectively become the linear functionals used in Rota’s theory (see [18]):

(11) 〈 f (t)|xk〉= ak, (k ≥ 0),

and

(12) 〈tk|xn〉= n!δn,k, (n,k ≥ 0).

The order o( f (t)) of the formal power series f (t)(6= 0) is the smallest integer k for which ak does

not vanish. If o( f (t)) = 1, then f (t) is called a delta series; if o( f (t)) = 0, then f (t) is called an

invertible series, (see [8,18]).

For each non-negative integer k, we define the λ -differential operator on P by

(13) (tk)λ (x)n,λ =

{

(n)k(x)n−k,λ , if k ≤ n,

0, if k > n,
(see [8]),

and, extending this linearly, any power series

f (t) =
∞

∑
k=0

ak

k!
tk ∈ F

yields the λ -differential operator on P given by

(14)
(

f (t)
)

λ
(x)n,λ =

n

∑
k=0

(

n

k

)

ak(x)n−k,λ , (n ≥ 0).

In other words, we have
(

f (t)
)

λ
=

∞

∑
k=0

ak

k!
(tk)λ .

If λ = 0, then the differential operator (tk)0 is simply denoted by tk. Now, (13) and (14) respec-

tively become the differential operators used in Rota’s theory:

(15) tkxn =

{

(n)kxn−k, if k ≤ n,

0, if k > n,
(see [18]),
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and, extending this linearly, any formal power series

f (t) =
∞

∑
k=0

ak

k!
tk ∈ F

yields the differential operator on P given by

(16) f (t)xn =
n

∑
k=0

(

n

k

)

akxn−k, (n ≥ 0).

From (14), we note that

(17)
(

e
y

λ
(t)

)

λ
(x)n,λ = (x+ y)n,λ ,

(

e
y

λ
(t)

)

λ
P(x) = P(x+ y), P(x) ∈ P,

(

e
y

λ
(t)−1

)

λ
P(x) = P(x+ y)−P(x),

〈

e
y

λ
(t)|P(x)〉λ = P(y), (see [8]).

For f (t),g(t) ∈ F with o( f (t)) = 1 and o(g(t)) = 0, there exists a unique sequences sn,λ (x)
(degsn,λ (x) = n) of polynomials such that (see [8])

(18)
〈

g(t)
(

f (t)
)k
|sn,λ (x)

〉

λ
= n!δn,k, (n,k ≥ 0).

The sequence sn,λ (x) is called the λ -Sheffer sequence for (g(t), f (t)), which is denoted by

sn,λ (x)∼ (g(t), f (t))λ , (see [8]).

For sn,λ (x)∼ (g(t), f (t))λ , we have

(19)
1

g( f (t))
e

y

λ

(

f (t)
)

=
∞

∑
k=0

sk,λ (y)
tk

k!
, (see [8]),

for all y ∈ C, where f (t) is the compositional inverse of f (t) with f ( f (t)) = f ( f (t)) = t.

For λ = 0, and with f (t),g(t) ∈F as before, there exists a unique sequence sn(x) (deg sn(x) = n)
of polynomials such that (see [18])

(20)
〈

g(t)
(

f (t)
)k
|sn(x)

〉

= n!δn,k, (n,k ≥ 0).

The sequence sn(x) is called the Sheffer sequence for (g(t), f (t)), which is denoted by sn(x) ∼
(g(t), f (t)), (see [18]).

For sn(x)∼ (g(t), f (t)), we have

(21)
1

g( f (t))
ey f (t) =

∞

∑
k=0

sk(y)
tk

k!
, (see [18]),

for all y ∈ C, where f (t) is the compositional inverse of f (t) with f ( f (t)) = f ( f (t)) = t.

Assume that, for each λ ∈ R
∗ of the set of nonzero real numbers, sn,λ (x) is λ -Sheffer for

(gλ (t), fλ (t)). Assume also that limλ→0 fλ (t) = f (t), limλ→0 gλ (t) = g(t), for some delta series

f (t) and an invertible series g(t). Then we see that limλ→0 f λ (t) = f (t). Moreover, by (19), for

each λ ∈ R
∗ we have:

(22)
1

gλ

(

f λ (t)
)ex

λ

(

f λ (t)
)

=
∞

∑
k=0

sk,λ (x)
tk

k!
.

If limλ→0 sk,λ (x) = sk(x), then, by (22), we have

1

g
(

f (t)
)ex f (t) =

∞

∑
k=0

sk(x)
tk

k!
.

Hence sn(x) is Sheffer for (g(t), f (t)), and
〈

g(t) f (t)k|sn(x)
〉

= n!δn,k, (n,k ≥ 0).
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In this case, we may say that the family
{

sn,λ (x)
}

λ∈R∗ of λ -Sheffer sequences sn,λ (x) are the degen-

erate sequences for the Sheffer polynomial sn(x). For example,
{

βn,λ (x)
}

λ∈R∗ (see (3), with r = 1)

are the degenerate sequences for the Bernoulli polynomials Bn(x), where Bn(x) = limλ→0 βn,λ (x)
are given by

t

et −1
ext =

∞

∑
k=0

Bk(x)
tk

k!
.

However, sn,λ (x) itself is oftentimes called the degenerate Sheffer polynomial for the Sheffer poly-

nomial sn(x).
For f (t),g(t) ∈ F and P(x) ∈ P, it is easy to show that

〈 f (t)g(t)|P(x)〉λ = 〈g(t)|
(

f (t)
)

λ
P(x)〉λ = 〈 f (t)|

(

g(t)
)

λ
P(x)〉λ , (see [8]).

For sn,λ (x) ∼ (g(t), f (t))λ , rn,λ (x) ∼ (h(t), l(t))λ , we have

(23) sn,λ (x) =
n

∑
k=0

cn,krk,λ (x), (see [8]),

where

(24) cn,k =
1

k!

〈

h( f (t))

g( f (t))

(

l( f (t))
)k

∣

∣

∣

∣

(x)n,λ

〉

λ

.

2. REPRESENTATIONS OF DEGENERATE HERMITE POLYNOMIALS IN TERMS OF OTHER

DEGENERATE SHEFFER POLYNOMIALS AND VICE VERSA

In light of (1), we may consider the degenerate Hermite polynomials which are given by

(25) e−1
λ (t2) · ex

λ (2t) =
∞

∑
n=0

Hn,λ (x)
tn

n!
.

Note that
∞

∑
n=0

lim
λ→0

Hn,λ (x)
tn

n!
= e−t2+2xt =

∞

∑
n=0

Hn(x)
tn

n!
.

By (25), we get

∞

∑
n=0

Hn,λ (x)
tn

n!
= e−1

λ (t2) · ex
λ (2t) =

∞

∑
l=0

(−1)l,λ
t2l

l!

∞

∑
m=0

(x)m,λ 2m tm

m!
(26)

=
∞

∑
n=0

(

n!

[

n
2

]

∑
l=0

(−1)l,λ 2n−2l(x)n−2l,λ

l!(n−2l)!

)

tn

n!
.

By comparing the coefficients on both sides of (26), we obtain the following theorem.

Theorem 1. For n ≥ 0, we have the expression given by

Hn,λ (x) = n!

[

n
2

]

∑
l=0

2n−2l(−1)l,λ

l!(n−2l)!
(x)n−2l,λ ,

where [x] denotes the greatest integer not exceeding x.

Note that Hn,λ (x) is the λ -Sheffer sequence for
(

eλ

(

1
4
t2
)

, t
2

)

. Now, we consider the following

two λ -Sheffer sequences:

(27) E
(r)

n,λ (x) ∼

((

eλ (t)+1

2

)r

, t

)

λ

, Hn,λ (x)∼

(

eλ

(

1

4
t2

)

,
1

2
t

)

λ

.
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By (23), (24) and (27), we get

(28) E
(r)
n,λ (x) =

n

∑
k=0

Cn,kHn,λ (x),

where

Cn,k =
1

k!

〈

eλ

(

1
4
t2
)

( eλ (t)+1

2

)r

(

t

2

)k∣
∣

∣

∣

(x)n,λ

〉

λ

(29)

=
1

2kk!

〈(

2

eλ (t)+1

)r

eλ

(

1

4
t2

)
∣

∣

∣

∣

(tk)λ (x)n,λ

〉

λ

=

(

n
k

)

2k

〈(

2

eλ (t)+1

)r∣
∣

∣

∣

(

eλ

(

1

4
t2

))

λ

(x)n−k,λ

〉

λ

= 2−k

(

n

k

)

[

n−k
2

]

∑
l=0

(1)l,λ

4l l!
(n− k)2l

〈(

2

eλ (t)+1

)r∣
∣

∣

∣

(x)n−k−2l,λ

〉

λ

= 2−k

(

n

k

)

[

n−k
2

]

∑
l=0

(1)l,λ

22ll!
(n− k)2lE

(r)
n−k−2l,λ

= n! ∑
0≤l≤n−k

l: even

(1) l
2
,λ

2l+k
(

l
2

)

!(n− k− l)!k!
E

(r)
n−k−l,λ .

Therefore, by (28) and (29), we obtain the following theorem.

Theorem 2. For n ≥ 0, we have the representation given by

E
(r)

n,λ (x) = n!
n

∑
k=0

{

∑
0≤l≤n−k

l: even

(1) l
2
,λ

k!(n− k− l)!2l+k
(

l
2

)

!
E

(r)
n−k−l,λ

}

Hn,λ (x).

For

(30) β
(r)
n,λ (x) ∼

((

eλ (t)−1

t

)r

, t

)

λ

, Hn,λ (x)∼

(

eλ

(

1

4
t2

)

,
t

2

)

λ

,

we have

(31) β
(r)
n,λ (x) =

n

∑
k=0

Cn,kHk,λ (x),

where

Cn,k =
1

k!

〈

eλ

(

1
4
t2
)

( eλ (t)−1

t

)r

(

t

2

)k∣
∣

∣

∣

(x)n,λ

〉

λ

(32)

=
1

k!2k

〈(

t

eλ (t)−1

)r

eλ

(

1

4
t2

)
∣

∣

∣

∣

(tk)λ (x)n,λ

〉

λ

= 2−k

(

n

k

)

[

n−k
2

]

∑
l=0

(1)l,λ

l!4l
(n− k)2l

〈(

t

eλ (t)−1

)r∣
∣

∣

∣

(x)n−k−2l,λ

〉

λ
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= 2−k

(

n

k

)

[

n−k
2

]

∑
l=0

(1)l,λ

l!4l
(n− k)2lβ

(r)
n−k−2l,λ

= n! ∑
0≤l≤n−k

l: even

(1) l
2
,λ

k!(n− k− l)!2k+l
(

l
2

)

!
β
(r)
n−k−l,λ .

Therefore, by (31) and (32), we obtain the following theorem.

Theorem 3. For n ≥ 0, we have the representation given by

β
(r)
n,λ (x) = n!

n

∑
k=0

{

∑
0≤l≤n−k

l: even

(1) l
2 ,λ

β
(r)
n−k−l,λ

k!(n− k− l)!
(

l
2

)

!2k+l

}

Hk,λ (x).

From (8), (19) and (25), we note that

(33) h
(r)
n,λ (x|u) ∼

((

eλ (t)−u

1−u

)r

, t

)

λ

, Hn,λ (x) ∼

(

eλ

(

1

4
t2

)

,
t

2

)

λ

.

By (23), (24) and (33), we get

(34) h
(r)
n,λ (x|u) =

n

∑
k=0

Cn,kHk,λ (x),

where

Cn,k =
1

k!

〈

eλ

(

1
4
t2
)

( eλ (t)−u

1−u

)r

(

t

2

)k∣
∣

∣

∣

(x)n,λ

〉

λ

(35)

=
1

2kk!

〈(

1−u

eλ (t)−u

)r

eλ

(

1

4
t2

)∣

∣

∣

∣

(tk)λ (x)n,λ

〉

λ

=

(

n
k

)

2k

〈(

1−u

eλ (t)−u

)r∣
∣

∣

∣

(

eλ

(

1

4
t2

))

λ

(x)n−k,λ

〉

λ

=

(

n
k

)

2k

[

n−k
2

]

∑
l=0

(n− k)2l(1)l,λ

l!22l

〈(

1−u

eλ (t)−u

)r∣
∣

∣

∣

(x)n−k−2l,λ

〉

λ

=

(

n
k

)

2k

[

n−k
2

]

∑
l=0

(n− k)2l(1)l,λ

l!22l
h
(r)
n−k−2l,λ (u)

= n! ∑
0≤l≤n−k

l; even

(1) l
2 ,λ

h
(r)
n−k−l,λ (u)

(

l
2

)

!2l+k(n− k− l)!k!
.

Therefore, by (34) and (35), we obtain the following theorem.

Theorem 4. For n ≥ 0, we have the representation given by

h
(r)
n,λ (x|u) = n!

n

∑
k=0

{

∑
0≤l≤n−k

l; even

(1) l
2
,λ h

(r)
n−k−l,λ (u)

(

l
2

)

!2l+k(n− k− l)!k!

}

Hk,λ (x).
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For sn,λ (x)∼ (g(t), f (t))λ , pn,λ (x)∼ (1, f (t))λ , we have

n!δn,k =
〈

g(t)
(

f (t)
)k∣
∣sn,λ (x)

〉

λ
=

〈(

f (t)
)k∣
∣

(

g(t)
)

λ
sn,λ (x)

〉

λ

=
〈(

f (t)
)k∣
∣pn,λ (x)

〉

λ
(36)

By (36), we get

(37)
(

g(t)
)

λ
sn,λ (x)∼ (1, f (t))λ , (n ≥ 0).

From (25), we have

(38) Hn,λ (x)∼

(

eλ

(

1

4
t2

)

,
1

2
t

)

λ

⇐⇒

(

eλ

(

1

4
t2

))

λ

Hn,λ (x) ∼

(

1,
1

2
t

)

λ

.

Since 2n(x)n,λ ∼
(

1, 1
2
t)λ ,

(

eλ

(

1
4
t2
))

λ
Hn,λ (x) = 2n(x)n,λ .

Hence,

Hn,λ (x) = 2n

(

e−1
λ

(

1

4
t2

))

λ

(x)n,λ

= 2n
∞

∑
l=0

(−1)l,λ

l!4l

(

t2l
)

λ
(x)n,λ

= 2n
[ n

2
]

∑
l=0

(−1)l,λ (n)2l

l!4l
(x)n−2l,λ

= n!

[ n
2
]

∑
l=0

(−1)l,λ 2n−2l

l!(n−2l)!
(x)n−2l,λ ,

which gives another proof for Theorem 1. Assume that

(39) Hn,λ (x) =
n

∑
k=0

Cn,kE
(r)
k,λ (x).

Then, by (23), (24) and (27), we get

Cn,k =
1

k!

〈

( eλ (2t)+1

2

)r

eλ

(

1
4
(2t)2

)(2t)k

∣

∣

∣

∣

(x)n,λ

〉

λ

(40)

=
2k

k!

〈(

eλ (2t)+1

2

)r

e−1
λ (t2)

∣

∣

∣

∣

(tk)λ (x)n,λ

〉

λ

= 2k

(

n

k

)〈(

eλ (2t)+1

2

)r∣
∣

∣

∣

(

e−1
λ (t2)

)

λ
(x)n−k,λ

〉

λ

= 2k

(

n

k

) [ n−k
2
]

∑
l=0

(−1)l,λ (n− k)2l

l!

〈(

eλ (2t)+1

2

)r∣
∣

∣

∣

(x)n−k−2l,λ

〉

λ
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=
2k

2r

(

n

k

)

r

∑
j=0

[ n−k
2
]

∑
l=0

(−1)l,λ (n− k)2l

l!

(

r

j

)

〈

e
j

λ
(2t)

∣

∣(x)n−k−2l,λ

〉

λ

=
1

2r

r

∑
j=0

[ n−k
2
]

∑
l=0

(−1)l,λ (n− k)2l

(

r
j

)(

n
k

)

2k2n−k−2l( j)n−k−2l,λ

l!

=
1

2r

r

∑
j=0

[ n−k
2
]

∑
l=0

(−1)l,λ (n− k)!
(

r
j

)(

n
k

)

2n−2l

l!(n− k−2l)!
( j)n−k−2l,λ .

Therefore, by (39) and (40), we obtain the following theorem.

Theorem 5. For n ≥ 0, we have the representation given by

Hn,λ (x) =
1

2r

n

∑
k=0

{

r

∑
j=0

[ n−k
2
]

∑
l=0

(−1)l,λ (n− k)!
(

r
j

)(

n
k

)

2n−2l

l!(n− k−2l)!
( j)n−k−2l,λ

}

E
(r)

k,λ (x).

Next, we would like to find another representation of Hn,λ (x) in terms of E
(r)

k,λ (x). From (40), we

observe that

Cn,k =
1

k!

〈(

eλ (2t)+1

2

)r

e−1
λ

(

1

4
(2t)2

)

(2t)k

∣

∣

∣

∣

(x)n,λ

〉

λ

(41)

=
1

k!

〈(

eλ (t)+1

2

)r

e−1
λ

(

1

4
t2

)

tk

∣

∣

∣

∣

2n(x)n,λ

〉

λ

=
1

k!

〈(

eλ (t)+1

2

)r

tk

∣

∣

∣

∣

2n

(

e−1
λ

(

1

4
t2

))

λ

(x)n,λ

〉

λ

=
1

k!

〈(

eλ (t)+1

2

)r

tk

∣

∣

∣

∣

Hn,λ (x)

〉

λ

=
1

k!

〈(

eλ (t)+1

2

)r∣
∣

∣

∣

(tk)λ Hn,λ (x)

〉

λ

.

To proceed further, we note that

(tk)λ Hn,λ (x) = n!

[ n−k
2
]

∑
l=0

2n−2l(−1)l,λ

l!(n−2l)!
(tk)λ (x)n−2l,λ

= n!

[ n−k
2
]

∑
l=0

2n−2l(−1)l,λ

l!(n−2l− k)!
(x)n−2l−k,λ(42)

= 2k(n)k(n− k)!
[ n−k

2
]

∑
l=0

2n−k−2l(−1)l,λ

l!(n− k−2l)!
(x)n−2l−k,λ

= 2k(n)kHn−k,λ (x).
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By (41) and (42), we get

Cn,k =
2k(n)k

k!

〈(

eλ (t)+1

2

)r∣
∣

∣

∣

Hn−k,λ (x)

〉

λ

(43)

=
2k
(

n
k

)

2r

r

∑
j=0

(

r

j

)

〈

e
j

λ (t)
∣

∣Hn−k,λ (x)
〉

λ

=
2k

2r

(

n

k

)

r

∑
j=0

(

r

j

)

Hn−k,λ ( j).

Therefore, by (39) and (43), we obtain the following theorem.

Theorem 6. For n ≥ 0, we have the representation given by

Hn,λ (x) =
1

2r

n

∑
k=0

(

n

k

)

2k

[

r

∑
j=0

(

r

j

)

Hn−k,λ ( j)

]

E
(r)
k,λ (x).

Let us assume that

(44) Hn,λ (x) =
n

∑
k=0

Cn,kβ
(r)
n,λ (x).

Then, by (23), (24) and (30), we have

Cn,k =
1

k!

〈

( eλ (2t)−1

2t

)r

eλ

(

1
4
(2t)2

)(2t)k

∣

∣

∣

∣

(x)n,λ

〉

λ

(45)

=
1

k!

〈

( eλ (t)−1

t

)r

eλ

(

1
4
t2
) tk

∣

∣

∣

∣

2n(x)n,λ

〉

λ

=
1

k!

〈(

eλ (t)−1

t

)r

tk

∣

∣

∣

∣

(

e−1
λ

(

1

4
t2

))

λ

2n(x)n,λ

〉

λ

=
1

k!

〈(

eλ (t)−1

t

)r

tk

∣

∣

∣

∣

Hn,λ (x)

〉

λ

.

For r > k, we have

Cn,k =
1

k!

〈

(

eλ (t)−1
)k

∣

∣

∣

∣

((

eλ (t)−1

t

)r−k)

λ

Hn,λ (x)

〉

λ

(46)

=
1

k!

n

∑
l=0

S2,λ (l + r− k,r− k)
(

l+r−k
l

)

l!

〈(

eλ (t)−1
)k∣
∣(t l)λ Hn,λ (x)

〉

λ

=
1

k!

n

∑
l=0

S2,λ (l + r− k,r− k)
(

l+r−k
l

)

l!

〈(

eλ (t)−1
)k∣
∣2l(n)lHn−l,λ (x)

〉

λ

=
1

k!

n

∑
l=0

k

∑
j=0

2l
(

n
l

)(

k
j

)

(

l+r−k
l

) S2,λ (l + r− k,r− k)(−1)k− j
〈

e
j

λ
(t)

∣

∣Hn−l,λ (x)
〉

λ

=
1

k!

n

∑
l=0

k

∑
j=0

2l
(

n
l

)(

k
j

)

(

l+r−k
l

) S2,λ (l + r− k,r− k)(−1)k− jHn−l,λ ( j).

The next theorem now follows from (44) and (46).
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Theorem 7. For r > n ≥ 0, we have the representation given by

Hn,λ (x) =
n

∑
k=0

1

k!

{

k

∑
j=0

n

∑
l=0

2l
(

n
l

)(

k
j

)

(

l+r−k
l

) S2,λ (l + r− k,r− k)(−1)k− jHn−l,λ ( j)

}

β
(r)
k,λ (x).

For r ≤ k ≤ n in (45), we have

Cn,k =
1

k!

r

∑
j=0

(

r

j

)

(−1)r− j
〈

e
j

λ (t)t
k−r

∣

∣Hn,λ (x)〉λ(47)

=
1

k!

r

∑
j=0

(

r

j

)

(−1)r− j
〈

e
j

λ
(t)

∣

∣

(

tk−r
)

λ
Hn,λ (x)

〉

λ

=
2k−r(n)k−r

k!

r

∑
j=0

(

r

j

)

(−1)r− j
〈

e
j

λ (t)
∣

∣Hn−k+r,λ (x)
〉

λ

=
2k−r(n)k−r

k!

r

∑
j=0

(

r

j

)

(−1)r− jHn−k+r,λ ( j).

Therefore, by (44) and (47), we obtain the following theorem.

Theorem 8. For n ≥ r, we have the representation given by

Hn,λ (x) =
r−1

∑
k=0

1

k!

{

k

∑
j=0

n

∑
l=0

2l
(

n
l

)(

k
j

)

(

l+r−k
l

) S2,λ (l + r− k,r− k)(−1)k− jHn−l,λ ( j)

}

β
(r)
k,λ (x)

+n!
n

∑
k=r

{

r

∑
j=0

(−1)r− j
(

r
j

)

2k−r

k!(n− k+ r)!
Hn−k+r,λ ( j)

}

β
( j)
k,λ (x).

Let

(48) Hn,λ (x) =
n

∑
k=0

Cn,kh
(r)
k,λ (x|u).

Then, by (23), (24) and (33), we have

Cn,k =
1

k!

〈

( eλ (2t)−u

1−u

)r

eλ

(

1
4
(2t)2

)(2t)k

∣

∣

∣

∣

(x)n,λ

〉

λ

(49)

=
1

k!

〈

( eλ (t)−u

1−u

)r

eλ

(

1
4
t2
) tk

∣

∣

∣

∣

2n(x)n,λ

〉

λ

=
1

k!

〈(

eλ (t)−u

1−u

)r

tk

∣

∣

∣

∣

(

e−1
λ

(

1

4
t2

))

λ

2n(x)n,λ

〉

λ

=
1

k!(1−u)r

〈(

eλ (t)−u
)r∣
∣(tk)λ Hn,λ (x)

〉

λ

=
1

(1−u)rk!

〈(

eλ (t)−u
)r∣
∣2k(n)kHn−k,λ (x)

〉

λ

=

(

n
k

)

2k

(1−u)r

r

∑
j=0

(

r

j

)

(−u)r− j
〈

e
j

λ
(t)

∣

∣Hn−k,λ (x)
〉

λ

=

(

n
k

)

2k

(1−u)r

r

∑
j=0

(

r

j

)

(−u)r− jHn−k,λ ( j).

Therefore, by (48) and (49), we obtain the following theorem.
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Theorem 9. For n ≥ 0, we have the representation given by

Hn,λ (x) =
1

(1−u)r

n

∑
k=0

(

n

k

)

2k

[

r

∑
j=0

(

r

j

)

(−u)r− jHn−k,λ ( j)

]

h
(r)
k,λ (x|u).

Finally, we would like to obtain another expression of Hn,λ (x) in terms of h
(r)
k,λ (x|u). With Cn,k as

in (48), we have

Cn,k =
1

k!

〈

( eλ (2t)−u

1−u

)r

eλ

(

1
4
(2t)2

)(2t)k
∣

∣(x)n,λ

〉

λ

=
2k(n)k

k!(1−u)r

〈

(eλ (2t)−u)r

eλ (t2)

∣

∣

∣

∣

(x)n−k,λ

〉

λ

=

(

n
k

)

2k

(1−u)r

[ n−k
2
]

∑
l=0

(−1)l,λ

l!

〈(

eλ (2t)−u
)r∣
∣(t2l)λ (x)n−k,λ

〉

λ

=

(

n
k

)

2k

(1−u)r

[ n−k
2
]

∑
l=0

(−1)l,λ (n− k)2l

l!

〈(

eλ (2t)−u
)r∣
∣(x)n−k−2l,λ

〉

λ

=

(

n
k

)

2k

(1−u)r

[ n−k
2
]

∑
l=0

(−1)l,λ (n− k)!

l!(n− k−2l)!

r

∑
j=0

(

r

j

)

(−u)r− j〈e j

λ (2t)
∣

∣(x)n−k−2l,λ

〉

λ

=
1

(1−u)r

r

∑
j=0

[ n−k
2
]

∑
l=0

(

n
k

)(

r
j

)

2k(−1)l,λ (n− k)!

l!(n− k−2l)!
(−u)r− j2n−k−2l( j)n−k−2l,λ

Hence, we have the following theorem.

Theorem 10. For n ≥ 0, we have the representation given by

Hn,λ (x) =
1

(1−u)r

n

∑
k=0

[

r

∑
j=0

[ n−k
2
]

∑
l=0

(

n
k

)(

r
j

)

(−1)l,λ (n− k)!

l!(n− k−2l)!
(−u)r− j2n−2l( j)n−k−2l,λ

]

h
(r)
k,λ (x).

3. CONCLUSION

Special polynomials and numbers can be studied by several different methods, which include

generating functions, combinatorial methods, umbral calculus, p-adic analysis, differential equa-

tions, probability, orthogonal polynomials and special functions. These various means of investi-

gating special polynomials and numbers can be applied also to degenerate special polynomials and

numbers. Indeed, in recent years, degenerate versions of many special polynomials and numbers

were explored with such methods, and some of their arithmetical and combinatorial properties were

discovered. Moreover, those degenerate versions of some special polynomials found some appli-

cations to other areas of mathematics such as differential equations, identities of symmetry and

probability theory.

Hermite polynomials are orthogonal polynomials that arise in such diverse areas as combina-

torics, numerical analysis, probability, physics, random matrix theory and systems theory. In light

of the regained recent interests in degenerate special numbers and polynomials, the introduction

of the degenerate Hermite polynomials followed naturally. In [8], the λ–linear functionals and the

λ–differential operators were introduced in order to effectively treat λ–Sheffer polynomials (see

(18), (19)). In particular, the important formula in (23) and (24), which expresses one λ–Sheffer
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polynomial in terms of other λ–Sheffer polynomials, were derived in [8]. In this paper, we ap-

plied this formula and expressed the higher-order degenerate Bernoulli, Euler and Frobenius-Euler

polynomials respectively in terms of the degenerate Hermite polynomials and vice versa.

As one of our future research projects, we would like to continue to study ‘λ -umbral calculus’

and their applications to physics, science and engineering as well as to mathematics.
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